

THE PARTIALLY DEGENERATE CHANGHEE-GENOCCHI POLYNOMIALS AND NUMBERS

YUNJAE KIM¹, BYUNG MOON KIM², GWAN-WOO JANG³,
AND JONGKYUM KWON⁴

ABSTRACT. In this paper, we introduce the partially degenerate Changhee-Genocchi polynomials and numbers and investigated some identities of these polynomials. Furthermore, we investigate some explicit identities and properties of the partially degenerate Changhee-Genocchi arising from the nonlinear differential equations.

1. Introduction

As is well known, the Genocchi polynomials $G_n(x)$ are defined by the generating function as follows:

$$\frac{2t}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} G_n(x) \frac{t^n}{n!} \quad (\text{see [1, 3, 6, 17]}). \quad (1.1)$$

When $x = 0$, $G_n = G_n(0)$ are called the Genocchi numbers.

The Changhee polynomials $Ch_n(x)$ are defined by the generating function to be

$$\frac{2}{2+t}(1+t)^x = \sum_{n=0}^{\infty} Ch_n(x) \frac{t^n}{n!} \quad (\text{see [5, 8, 13, 16, 18]}). \quad (1.2)$$

When $x = 0$, $Ch_n = Ch_n(0)$ are called the Changhee numbers.

By replacing t by $e^t - 1$, we get

$$\begin{aligned} \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!} &= \frac{2}{e^t + 1} e^{xt} \\ &= \sum_{m=0}^{\infty} \frac{Ch_m(x)}{m!} (e^t - 1)^m \\ &= \sum_{m=0}^{\infty} Ch_m(x) \sum_{n=m}^{\infty} S_2(n, m) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n Ch_m(x) S_2(n, m) \right) \frac{t^n}{n!}, \end{aligned} \quad (1.3)$$

where $E_m(x)$ are ordinary Euler polynomials.

Thus, we have

$$E_n(x) = \sum_{m=0}^n Ch_m(x) S_2(n, m). \quad (1.4)$$

Now, we define the degenerate exponential function as follow:

When $x = 0$, $CG_n = CG_n(0)$ are called the Changhee-Genocchi numbers.

The Genocchi-Changhee polynomials $GCh_n(x)$ are defined by the generating function to be

$$\frac{2t}{2+t}(1+t)^x = \sum_{n=0}^{\infty} GCh_n(x) \frac{t^n}{n!}. \quad (1.10)$$

When $x = 0$, $GCh_n = GCh_n(0)$ are called the Genocchi-Changhee numbers.

The degenerate Changhee-Genocchi polynomials $CG_n(x | \lambda)$ are defined by the generating function to be

$$\frac{2 \log(1 + \log e_\lambda^t)}{2 + \log e_\lambda^t} (1 + \log e_\lambda^t)^x = \sum_{n=0}^{\infty} CG_n(x | \lambda) \frac{t^n}{n!} \quad (\text{see [11]}). \quad (1.11)$$

When $x = 0$, $CG_n = CG_n(0)$ are called the degenerate Changhee-Genocchi numbers.

We recall the Stirling numbers of the first kind $S_1(n, m)$ and $S_2(n, m)$ are defined by

$$\frac{1}{m!} (\log(1+t))^m = \sum_{n=m}^{\infty} S_1(n, m) \frac{t^n}{n!} \quad (\text{see [4, 7, 14]}). \quad (1.12)$$

and

$$\frac{1}{m!} (e^t - 1)^m = \sum_{n=m}^{\infty} S_2(n, m) \frac{t^n}{n!} \quad (\text{see [10, 12, 15]}). \quad (1.13)$$

Recently, B-M. Kim et al. studied Changhee-Genocchi polynomials and some identities of these polynomials. They also introduced Changhee-Genocchi polynomials and investigated some identities of these polynomials ([?]). Also, H.-I. Kwon et al. introduced degenerate Changhee-Genocchi polynomials and some identities of these polynomials and investigated some identities of these polynomials ([?]). In this paper, we introduce the partially degenerate Changhee-Genocchi polynomials and numbers and investigated some identities of these polynomials. Furthermore, we investigate some explicit identities and properties of the partially degenerate Changhee-Genocchi arising from the nonlinear differential equations.

2. The partially degenerate Changhee-Genocchi polynomials and numbers

In this section, we define the partially degenerate Changhee-Genocchi polynomials and numbers and investigate some identities of the partially degenerate Changhee-Genocchi polynomials.

Now, we consider the degenerate Genocchi polynomials which are given by the generating function to be

$$\frac{2t}{e_\lambda^t + 1} e_\lambda^{tx} = \sum_{n=0}^{\infty} G_{n,\lambda}(x) \frac{t^n}{n!}. \quad (2.1)$$

When $x = 0$, $G_{n,\lambda} = G_{n,\lambda}(0)$ are called the degenerate Genocchi numbers.

It is not difficult to show that $G_{0,\lambda}(0) = 0$.

So,

$$\frac{2t}{e_\lambda^t + 1} e_\lambda^{tx} = \sum_{n=0}^{\infty} \frac{G_{n+1,\lambda}(x)}{n+1} \frac{t^{n+1}}{n!}. \quad (2.2)$$

Thus,

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{G_{n+1,\lambda}(x)}{n+1} \frac{t^{n+1}}{n!} &= t \frac{2}{e_\lambda^t + 1} e_\lambda^{tx} \\ &= \sum_{n=0}^{\infty} E_{n,\lambda}(x) \frac{t^{n+1}}{n!}. \end{aligned} \quad (2.3)$$

Comparing the coefficients on the both sides in (2.2), we have the following result.

Theorem 2.1. *Let $\lambda \in \mathbb{C}_p$ with $0 < |\lambda|_p < 1$. Then*

$$\frac{G_{n+1,\lambda}(x)}{n+1} = E_{n,\lambda}(x), \quad (n \geq 0). \quad (2.4)$$

In [4], the degenerate Changhee polynomials which are given by

$$\frac{2}{2 + \log e_\lambda^t} (1 + \log e_\lambda^t)^x = \sum_{n=0}^{\infty} Ch_{n,\lambda}(x) \frac{t^n}{n!}. \quad (2.5)$$

By replacing t by $\frac{1}{\lambda}(e^{\lambda t} - 1)$ in (??), we get

$$\begin{aligned} \frac{2}{2+t}(1+t)^x &= \sum_{m=0}^{\infty} Ch_{m,\lambda}(x) \frac{1}{m!} \left(\frac{1}{\lambda}(e^{\lambda t} - 1) \right)^m \\ &= \sum_{m=0}^{\infty} Ch_{m,\lambda}(x) \lambda^{-m} \sum_{n=m}^{\infty} S_2(n, m) \frac{\lambda^n}{n!} t^n \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n Ch_{m,\lambda}(x) \lambda^{n-m} S_2(n, m) \right) \frac{t^n}{n!}. \end{aligned} \quad (2.6)$$

Thus, we obtain the following result.

Theorem 2.2. *Let $\lambda \in \mathbb{C}_p$ with $0 < |\lambda|_p < 1$. Then*

$$Ch_n(x) = \sum_{m=0}^n Ch_{m,\lambda}(x) \lambda^{n-m} S_2(n, m). \quad (2.7)$$

Now, we define the partially degenerate Changhee-Genocchi polynomials which are given by

$$\frac{2 \log(1+t)}{2 + \log e_\lambda^t} (1 + \log e_\lambda^t)^x = \sum_{n=0}^{\infty} \widehat{CG}_{n,\lambda}(x) \frac{t^n}{n!}. \quad (2.8)$$

When $x = 0$, $\widehat{CG}_{n,\lambda} = \widehat{CG}_{n,\lambda}(0)$ are called the partially degenerate Changhee-Genocchi numbers.

Also, we define the higher-order partially degenerate Changhee-Genocchi numbers which are given by the generating function to be

$$\left(\frac{2 \log(1+t)}{2 + \log e_\lambda^t} \right)^k = \sum_{n=0}^{\infty} \widehat{CG}_{n,\lambda}^{(k)} \frac{t^n}{n!}. \quad (2.9)$$

Now, we observe that

$$\begin{aligned} \lim_{\lambda \rightarrow 0} \frac{2 \log(1+t)}{2 + \log e_\lambda^t} (1 + \log e_\lambda^t)^x &= \frac{2 \log(1+t)}{2+t} (1+t)^x \\ &= \frac{2t}{2+t} (1+t)^x \frac{\log(1+t)}{t} \\ &= \left(\sum_{l=0}^{\infty} GCh_l(x) \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} D_m \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} GCh_l(x) D_{n-l} \right) \frac{t^n}{n!}. \end{aligned} \quad (2.10)$$

Comparing the coefficients on the both sides in (??), we have the following result.

Theorem 2.3. *Let $\lambda \in \mathbb{C}_p$ with $0 < |\lambda|_p < 1$ and $\lambda \rightarrow 0$. Then*

$$\widehat{CG}_{n,0}(x) = \sum_{l=0}^n \binom{n}{l} GCh_l(x) D_{n-l}. \quad (2.11)$$

Now, we observe that

$$\begin{aligned} \sum_{n=0}^{\infty} \widehat{CG}_{n,\lambda} \frac{t^n}{n!} &= \frac{2 \log(1+t)}{2 + \log e_\lambda^t} (1 + \log e_\lambda^t)^x \\ &= \frac{2t}{2 + \log e_\lambda^t} (1 + \log e_\lambda^t)^x \frac{\log(1+t)}{t} \\ &= \left(\sum_{l=0}^{\infty} Ch_{l,\lambda}(x) \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} D_m \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} Ch_{l,\lambda} D_{n-l} \right) \frac{t^n}{n!}. \end{aligned} \quad (2.12)$$

Comparing the coefficients on the both sides in (??), we have the following result.

Theorem 2.4. *Let $\lambda \in \mathbb{C}_p$ with $0 < |\lambda|_p < 1$. Then*

$$\widehat{CG}_{n,\lambda} = \sum_{l=0}^n \binom{n}{l} Ch_{l,\lambda} D_{n-l}. \quad (2.13)$$

We observe that

$$\begin{aligned} \sum_{n=0}^{\infty} \widehat{CG}_{n,\lambda}(x) \frac{t^n}{n!} &= \frac{2 \log(1+t)}{2 + \log e_\lambda^t} (1 + \log e_\lambda^t)^x \\ &= \left(\sum_{l=0}^{\infty} \widehat{CG}_{l,\lambda} \frac{t^l}{l!} \right) \left(\sum_{k=0}^{\infty} (x)_k \frac{1}{k!} (\log e_\lambda^t)^k \right) \\ &= \left(\sum_{l=0}^{\infty} \widehat{CG}_{l,\lambda} \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} \left(\sum_{k=0}^m (x)_k \lambda^{m-k} S_1(m, k) \right) \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \sum_{k=0}^m \binom{n}{m} (x)_k \lambda^{m-k} S_1(m, k) \widehat{CG}_{n-m,\lambda} \right) \frac{t^n}{n!}. \end{aligned} \quad (2.14)$$

Theorem 2.5. Let $\lambda \in \mathbb{C}_p$ with $0 < |\lambda|_p < 1$. Then

$$\widehat{CG}_{n,\lambda}(x) = \sum_{m=0}^n \sum_{k=0}^m \binom{n}{m} (x)_k \lambda^{m-k} S_1(m, k) \widehat{CG}_{n-m,\lambda}. \quad (2.15)$$

3. The partially degenerate Changhee-Genocchi numbers arising from differential equations

In this section, we investigate some identities of the partially degenerate Changhee-Genocchi numbers arising from differential equations.

Let

$$F = F(t) = \frac{1}{2\lambda + \log(1 + \lambda t)}. \quad (3.1)$$

Then, by taking the derivative with respect to t of (3.1), we obtain

$$\begin{aligned} F^{(1)} &= \frac{d}{dt} F(t) = \frac{1}{(2\lambda + \log(1 + \lambda t))^2} \left(-\frac{\lambda}{1 + \lambda t} \right) \\ &= \left(-\frac{\lambda}{1 + \lambda t} \right) F^2. \end{aligned} \quad (3.2)$$

From (3.2), we have

$$\lambda F^2 = -(1 + \lambda t) F^{(1)}. \quad (3.3)$$

By taking the derivative with respect to t in (3.3), we note that

$$2\lambda F F^{(1)} = -\lambda F^{(1)} - (1 + \lambda t) F^{(2)}. \quad (3.4)$$

Thus, by multiple $(1 + \lambda t)$ on the both sides of (3.4), we obtain

$$2\lambda(1 + \lambda t) F F^{(1)} = -\lambda(1 + \lambda t) F^{(1)} - (1 + \lambda t)^2 F^{(2)}. \quad (3.5)$$

From (3.3) and (3.5), we get

$$2\lambda^2 F^3 = \lambda(1 + \lambda t) F^{(1)} + (1 + \lambda t)^2 F^{(2)}. \quad (3.6)$$

From the above equation, we have

$$\begin{aligned} 3!\lambda^2 F^2 F^{(1)} &= \lambda^2 F^{(1)} + \lambda(1 + \lambda t) F^{(2)} + 2\lambda(1 + \lambda t) F^{(2)} + (1 + \lambda t)^2 F^{(3)} \\ &= \lambda^2 F^{(1)} + 3\lambda(1 + \lambda t) F^{(2)} + (1 + \lambda t)^2 F^{(3)}. \end{aligned} \quad (3.7)$$

Multiply $(1 + \lambda t)$ on the both sides of (3.7), we get

$$3!\lambda^2(1 + \lambda t) F^2 F^{(1)} = \lambda^2(1 + \lambda t) F^{(1)} + 3\lambda(1 + \lambda t)^2 F^{(2)} + (1 + \lambda t)^3 F^{(3)}. \quad (3.8)$$

From (3.8) and (3.6), we obtain

$$3!\lambda^3 F^4 = -\lambda^2(1 + \lambda t) F^{(1)} - 3\lambda(1 + \lambda t)^2 F^{(2)} - (1 + \lambda t)^3 F^{(3)}. \quad (3.9)$$

Continuing this process, we get

$$N!\lambda^N F^{N+1} = (-1)^N \sum_{k=1}^N a_k(N) \lambda^{N-k} (1 + \lambda t)^k F^{(k)}. \quad (3.10)$$

Let us take the derivative on the both sides of (??) with respect to t . Then we obtain

$$\begin{aligned} (N+1)! \lambda^N F^N F^{(1)} &= (-1)^N \sum_{k=1}^N a_k(N) \lambda^{N-k+1} k (1 + \lambda t)^{k-1} F^{(k)} \\ &+ (-1)^N \sum_{k=1}^N a_k(N) \lambda^{N-k} (1 + \lambda t)^k F^{(k+1)}. \end{aligned} \quad (3.11)$$

Multiply $(1 + \lambda t)$ on the both sides of (??), we have

$$\begin{aligned} (N+1)! \lambda^N (1 + \lambda t) F^N F^{(1)} &= (-1)^N \sum_{k=1}^N k a_k(N) \lambda^{N-k+1} (1 + \lambda t)^k F^{(k)} \\ &+ (-1)^N \sum_{k=1}^N a_k(N) \lambda^{N-k} (1 + \lambda t)^{k+1} F^{(k+1)}. \end{aligned} \quad (3.12)$$

Then, by (??) and (??), we obtain

$$\begin{aligned} (N+1)! \lambda^{N+1} F^{N+2} &= (-1)^{N+1} \sum_{k=1}^N k a_k(N) \lambda^{N-k+1} (1 + \lambda t)^k F^{(k)} \\ &+ (-1)^{N+1} \sum_{k=1}^N a_k(N) \lambda^{N-k} (1 + \lambda t)^{k+1} F^{(k+1)} \\ &= (-1)^{N+1} \sum_{k=1}^N k a_k(N) \lambda^{N-k+1} (1 + \lambda t)^k F^{(k)} \\ &+ (-1)^{N+1} \sum_{k=2}^{N+1} a_{k-1}(N) \lambda^{N-k+1} (1 + \lambda t)^k F^{(k)} \\ &= (-1)^{N+1} a_1(N) \lambda^N (1 + \lambda t) F^{(1)} \\ &+ (-1)^{N+1} a_N(N) (1 + \lambda t)^{N+1} F^{(N+1)} \\ &+ (-1)^{N+1} \sum_{k=2}^N (k a_k(N) + a_{k-1}(N)) \lambda^{N-k+1} (1 + \lambda t)^k F^{(k)}. \end{aligned} \quad (3.13)$$

By substituting N by $N + 1$ given in (??), we have another equation.

$$\begin{aligned} (N + 1)! \lambda^{N+1} F^{N+2} &= (-1)^{N+1} \sum_{k=1}^{N+1} a_k (N + 1) \lambda^{N-k+1} (1 + \lambda t)^k F^{(k)} \\ &= (-1)^{N+1} a_1 (N + 1) \lambda^N (1 + \lambda t) F^{(1)} \\ &\quad + (-1)^{N+1} a_{N+1} (N + 1) (1 + \lambda t)^{N+1} F^{(N+1)} \\ &\quad + (-1)^{N+1} \sum_{k=2}^N a_k (N + 1) \lambda^{N-k+1} (1 + \lambda t)^k F^{(k)}. \end{aligned} \quad (3.14)$$

Comparing the coefficients on the both sides of (??) and (??), we have

$$a_1(N + 1) = a_1(N), \quad a_{N+1}(N + 1) = a_N(N), \quad (3.15)$$

and

$$a_k(N + 1) = k a_k(N) + a_{k-1}(N), \quad \text{for } 2 \leq k \leq N. \quad (3.16)$$

From (??) and (??), for $N = 1$, we obtain

$$\begin{aligned} \lambda^2 F^2 &= - \sum_{k=1}^1 a_k(1) \lambda^{1-k} (1 + \lambda t)^k F^{(k)} \\ &= -a_1(1) (1 + \lambda t) F^{(1)} \\ &= -(1 + \lambda t) F^{(1)}. \end{aligned} \quad (3.17)$$

From (??), we get

$$a_1(1) = 1. \quad (3.18)$$

From (??), we have the following result using (??).

$$a_1(N + 1) = a_1(N) = a_1(N - 1) = \cdots = a_1(1) = 1. \quad (3.19)$$

and

$$a_{N+1}(N + 1) = a_N(N) = a_{N-1}(N - 1) = \cdots = a_1(1) = 1. \quad (3.20)$$

From (??), for $2 \leq k \leq N$, we have

$$\begin{aligned} a_k(N + 1) &= k a_k(N) + a_{k-1}(N) \\ &= k(k a_k(N - 1) + a_{k-1}(N - 1)) + a_{k-1}(N) \\ &= k^2 a_k(N - 1) + k a_{k-1}(N - 1) + a_{k-1}(N) \\ &= \cdots \\ &= k^{N-k+1} a_k(k) + k^{N-k} a_{k-1}(k) + \cdots + a_{k-1}(N) \end{aligned} \quad (3.21)$$

Therefore by (??) and (??), we get

$$\begin{aligned}
a_k(N+1) &= k^{N-k+1}a_k(k) + k^{N-k}a_{k-1}(k) + \cdots + a_{k-1}(N) \\
&= \sum_{i_1=0}^{N-k+1} k^{N-k+1-i_1}a_{k-1}(k-1+i_1) \\
&= \sum_{i_1=0}^{N-k+1} k^{N-k+1-i_1} \sum_{i_2=0}^{i_1} (k-1)^{i_1-i_2}a_{k-2}(k-2+i_2) \\
&= \sum_{i_1=0}^{N-k+1} \sum_{i_2=0}^{i_1} k^{N-k+1-i_1} (k-1)^{i_1-i_2}a_{k-2}(k-2+i_2) \\
&= \cdots \\
&= \sum_{i_1=0}^{N-k+1} \sum_{i_2=0}^{i_1} \cdots \sum_{i_{k-1}=0}^{i_{k-2}} k^{N-k+1-i_1} (k-1)^{i_1-i_2} \cdots 2^{i_{k-2}-i_{k-1}}a_1(1+i_{k-1}).
\end{aligned} \tag{3.22}$$

From (??) and (??), we obtain

$$a_k(N+1) = \sum_{i_1=0}^{N-k+1} \sum_{i_2=0}^{i_1} \cdots \sum_{i_{k-1}=0}^{i_{k-2}} k^{N-k+1-i_1} (k-1)^{i_1-i_2} \cdots 2^{i_{k-2}-i_{k-1}}. \tag{3.23}$$

Thus, we have the following theorem.

Theorem 3.1. *Let $N \in \mathbb{N}$. Then the following differential equation,*

$$N!\lambda^N F^{N+1} = (-1)^N \sum_{k=1}^N a_k(N)\lambda^{N-k}(1+\lambda t)^k F^{(k)}$$

have a solution $F = F(t) = \frac{1}{2\lambda + \log(1+\lambda t)}$, where

$$a_N(N) = 1, \quad a_1(N) = 1$$

and

$$a_k(N) = \sum_{i_1=0}^{N-k} \sum_{i_2=0}^{i_1} \cdots \sum_{i_{k-1}=0}^{i_{k-2}} k^{N-k-i_1} (k-1)^{i_1-i_2} \cdots 2^{i_{k-2}-i_{k-1}}, \quad \text{for } 2 \leq k \leq N.$$

From (??), we get

$$\begin{aligned}
 F &= \frac{1}{2\lambda + \log(1 + \lambda t)} \\
 &= \frac{t}{\log(1 + t)} \times \frac{1}{2\lambda t} \times \frac{2 \log(1 + t)}{2 + \log e_\lambda^t} \\
 &= \left(\sum_{l_1=0}^{\infty} b_{l_1} \frac{t^{l_1}}{l_1!} \right) \times \left(\sum_{l_2=1}^{\infty} CG_{l_2, \lambda} \frac{1}{2\lambda} \frac{t^{l_2-1}}{l_2!} \right) \\
 &= \left(\sum_{l_1=0}^{\infty} b_{l_1} \frac{t^{l_1}}{l_1!} \right) \times \left(\sum_{l_2=0}^{\infty} CG_{l_2+1, \lambda} \frac{1}{2\lambda(l_2+1)} \frac{t^{l_2}}{l_2!} \right) \\
 &= \sum_{l_3=0}^{\infty} \left(\sum_{l_2=0}^{l_3} \binom{l_3}{l_2} b_{l_3-l_2} CG_{l_2+1, \lambda} \frac{1}{2\lambda(l_2+1)} \right) \frac{t^{l_3}}{l_3!}.
 \end{aligned} \tag{3.24}$$

From the above equation, we get

$$\begin{aligned}
 F^{(k)} &= \left(\frac{d}{dt} \right)^k F(t) \\
 &= \left(\frac{d}{dt} \right)^k \left(\sum_{l_3=0}^{\infty} \left(\sum_{l_2=0}^{l_3} \binom{l_3}{l_2} b_{l_3-l_2} CG_{l_2+1, \lambda} \frac{1}{2\lambda(l_2+1)} \right) \frac{t^{l_3}}{l_3!} \right) \\
 &= \sum_{l_3=0}^{\infty} \left(\sum_{l_2=0}^{l_3+k} \binom{l_3+k}{l_2} b_{l_3-l_2+k} CG_{l_2+1, \lambda} \frac{1}{2\lambda(l_2+1)} \right) \frac{t^{l_3}}{l_3!}.
 \end{aligned} \tag{3.25}$$

Multiply $2^{N+1}\lambda(\log(1+t))^{N+1}$ on the right sides of (??), we get

$$\begin{aligned}
 &(-1)^N \sum_{k=1}^N a_k(N) \lambda^{N-k+1} 2^{N+1} (\log(1+t))^{N+1} (1+\lambda t)^k F^{(k)} \\
 &= (-1)^N \sum_{k=1}^N a_k(N) \lambda^{N-k+1} 2^{N+1} \left(\sum_{M_1=N+1}^{\infty} S_1(M_1, N+1) \frac{t^{M_1}}{M_1!} \right) \\
 &\times \left(\sum_{M_2=0}^k (k)_{M_2} \lambda^{M_2} \frac{t^{M_2}}{M_2!} \right) F^{(k)} \\
 &= (-1)^N \sum_{k=1}^N a_k(N) \lambda^{N-k+1} 2^{N+1} \sum_{M_3=N+1}^{\infty} \left(\sum_{M_1=N+1}^{M_3} \binom{M_3}{M_1} \right) \\
 &\times S_1(M_1, N+1) (k)_{M_3-M_1} \lambda^{M_3-M_1} \frac{t^{M_3}}{M_3!} F^{(k)}.
 \end{aligned} \tag{3.26}$$

Where $S_1(n, k)$ is the Stirling number of the first kind.

Thus, by (??) and (??), we get

$$\begin{aligned}
 & (-1)^N \sum_{k=1}^N a_k(N) \lambda^{N-k+1} 2^{N+1} (\log(1+t))^{N+1} (1+\lambda t)^k F^{(k)} \\
 &= (-1)^N \sum_{k=1}^N a_k(N) \lambda^{N-k+1} 2^{N+1} \sum_{M_3=N+1}^{\infty} \left(\sum_{M_1=N+1}^{M_3} \binom{M_3}{M_1} \right) \\
 & \times S_1(M_1, N+1) (k)_{M_3-M_1} \lambda^{M_3-M_1} \frac{t^{M_3}}{M_3!} \\
 & \times \left(\sum_{l_3=0}^{\infty} \left(\sum_{l_2=0}^{l_3+k} \binom{l_3+k}{l_2} b_{l_3-l_2+k} CG_{l_2+1, \lambda} \frac{1}{2\lambda(l_2+1)} \right) \frac{t^{l_3}}{l_3!} \right) \\
 &= (-1)^N \sum_{k=1}^N \sum_{n=N+1}^{\infty} \sum_{M_3=N+1}^n \sum_{M_1=N+1}^{M_3} \sum_{l_2=0}^{n-M_3+k} \binom{n}{M_3} \binom{M_3}{M_1} \binom{n-M_3+k}{l_2} \\
 & \times a_k(N) \lambda^{N-k+M_3-M_1} 2^N S_1(M_1, N+1) (k)_{M_3-M_1} b_{n-M_3-l_2+k} \\
 & \times CG_{l_2+1, \lambda} \frac{1}{l_2+1} \times \frac{t^n}{n!}
 \end{aligned} \tag{3.27}$$

$$\begin{aligned}
 &= (-1)^N \sum_{n=N+1}^{\infty} \left(\sum_{k=1}^N \sum_{M_3=N+1}^n \sum_{M_1=N+1}^{M_3} \sum_{l_2=0}^{n-M_3+k} \binom{n}{M_3} \binom{M_3}{M_1} \binom{n-M_3+k}{l_2} \right) \\
 & \times a_k(N) \lambda^{N-k+M_3-M_1} 2^N S_1(M_1, N+1) (k)_{M_3-M_1} b_{n-M_3-l_2+k} \\
 & \times CG_{l_2+1, \lambda} \frac{1}{l_2+1} \times \frac{t^n}{n!}.
 \end{aligned}$$

Also, multiply $2^{N+1} \lambda (\log(1+t))^{N+1}$ on the left sides of (??), we get

$$\begin{aligned}
 N! 2^{N+1} \lambda^{N+1} (\log(1+t))^{N+1} F^{N+1} &= N! \left(\frac{2 \log(1+t)}{2 + \log e_\lambda^t} \right)^{N+1} \\
 &= N! \sum_{n=N+1}^{\infty} \widehat{CG}_{n, \lambda}^{(N+1)} \frac{t^n}{n!}.
 \end{aligned} \tag{3.28}$$

By equation (??), (??) and (??), we finally get the explicit expression arising from nonlinear differential equation.

Theorem 3.2. For $n \geq N + 1$, we have

$$\begin{aligned} \widehat{CG}_{n,\lambda}^{(N+1)} &= \frac{(-1)^N}{N!} \sum_{k=1}^N \sum_{M_3=N+1}^n \sum_{M_1=N+1}^{M_3} \sum_{l_2=0}^{n-M_3+k} \binom{n}{M_3} \binom{M_3}{M_1} \binom{n-M_3+k}{l_2} a_k(N) \\ &\quad \times \lambda^{N-k+M_3-M_1} 2^N S_1(M_1, N+1)(k)_{M_3-M_1} b_{n-M_3-l_2+k} CG_{l_2+1,\lambda} \frac{1}{l_2+1}. \end{aligned}$$

4. Conclusion

T. Kim have studied some identities of Changhee numbers which are derived from generating function using nonlinear differential equation(see [8]). In this paper, we study some identities of the partially degenerate Changhee-Genocchi polynomials and the partially degenerate Changhee-Genocchi number arising from nonlinear differential equation. In **Theorem 2.3** and **Theorem 2.4**, we get the some identities of the partially degenerate Changhee-Genocchi polynomials. In **Theorem 3.1**, we get the solution of nonlinear differential equation arising from generating function of the partially degenerate Changhee-Genocchi numbers. In **Theorem 3.2**, we have explicit expression of the partially degenerate Changhee-Genocchi number from the result of **Theorem 3.1** using generating function and nonlinear differential equations.

Competing interests

The authors declare that they have no competing interests.

Authors' contributions

All authors contributed equally to this work. All authors read and approved the final manuscript.

Acknowledgements

This work was supported by the National Research Foundation of Korea (NRF) grant funded by the Korea government (MEST) (No. 2017R1E1A1A03070882).

References

1. A. Bayad, T. Kim, *Identities for the Bernoulli, the Euler and Genocchi numbers and polynomials*, Adv. Stud. Contemp. Math., **20** (2010), no. 2, 247-253.
2. L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Util. Math., **15** (1979), 51-88.
3. B. -M. Kim, J. H. Jeong, S. -H. rim, *Some explicit identities on Changhee-Genocchi polynomials and numbers*, Adv. Difference Equ., **2016** (2016), 13662.
4. D. S. Kim, T. Kim, *Some identities of degenerate Euler polynomials arising from p-adic fermionic integral on \mathbb{Z}_p* , Integral Transforms Spec. Funct., **26(4)** (2015), 295-302.

5. D. S. Kim, T. Kim, *A note on Changhee polynomials and numbers*, Adv. Studies Theor. Phys., **7** (2013), no. 20, 993-1003.
6. D. S. Kim, T. Kim, *Some identities involving Genocchi polynomials and numbers*, Ars Comb., **121** (2015), 403-412.
7. T. Kim, *q-Euler numbers and polynomials associated with p-adic q-integrals*, J. Nonlinear Math. Phys., **14** (2007), 15-27.
8. T. Kim, *A note on nonlinear Changhee differential equations*, Russ J. Math. Phys., **23** (2016), no. 1, 88-92.
9. T. Kim, D. S. Kim, *Degenerate Laplace transform and degenerate Gamma function*, Russ. J. Math. Phys., **24** (2017), no. 2, 241-248.
10. T. Kim, D. S. Kim, D. V. Dolgy, *Degenerate q-Euler polynomials*, Adv. Difference Equ., **2015** (2015), 13662.
11. H. -I. Kwon, T. Kim, J.-W. Park, *A note on degenerate Changhee-Genocchi polynomials and numbers*, Global J. Pure and Appl. Math., **12** (2016), no. 5, 4057-4064.
12. N. I. Mahmudov, *On a class of q-Bernoulli and q-Euler polynomials*, Adv. Diff. Equ., 2013, 2013:108.
13. E. -J. Moon, J. -w. Park, *note on the generalized q-Changhee numbers of higher order*, J. Comput. Anal. Appl., 20 (2016), no. 3, 470-479.
14. H. Ozden, Y. Simsek, *A new extension of q-Euler numbers and polynomials related to their interpolation functions*, Appl. Math. Lett., **21(9)** (2008), 934-939.
15. C. S. Ryoo, *A note on the weighted q-Euler numbers and polynomials*, Adv. Stud. Contemp. Math., **21** (2011), no. 1, 47-54.
16. Y. Simsek, *Identities on the Changhee numbers and Apostol-Daehee polynomials*, Adv. Stud. Contemp. Math., **27** (2017), no. 2, 199-212.
17. H. M. Srivastava, *Some generalizations and basic extensions of the Bernoulli, Euler and Genocchi polynomials*, Appl. Math. and Infor. Sci., **5** (2011), 390-444.
18. N. L. Wang, H. Li, *Some identities on the higher-order Daehee and Changhee numbers*, Pure Appl. Math., **4** (2015), no. 5, 33-37.

¹ DEPARTMENT OF MATHEMATICS, DONG-A UNIVERSITY, BUSAN, 49315, REPUBLIC OF KOREA

E-mail address: kimholzi@gmail.com

² DEPARTMENT OF MECHANICAL SYSTEM ENGINEERING, DONGGUK UNIVERSITY, GYUNGSU, 38066, REPUBLIC OF KOREA.

E-mail address: kbm713@dongguk.ac.kr

³ DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL, 139-701, REPUBLIC OF KOREA.

E-mail address: jgw5687@naver.com

⁴ DEPARTMENT OF MATHEMATICS EDUCATION AND ERI, GYEONGSANG NATIONAL UNIVERSITY, JINJU, GYEONGSANGNAMDO, 52828, REPUBLIC OF KOREA

E-mail address: mathkjk26@gnu.ac.kr